STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **HIGHWAY DIVISION 13**

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 7, 2024 AT 2:00 PM

CONTRACT ID: 12109839

WBS ELEMENT NO.: 13.108111, 13.208111, 13.208121

FEDERAL AID NO.: STATE FUNDED

COUNTY:

RUTHERFORD

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: HAULING MATERIAL UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

12109839

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13.108111, 13.208111, 13.208121

Description:

Hauling Material Upon Request

County:

Rutherford

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Emergency Mobilization	15	EA	001	.15
2	SP	Hauling Material Smaller than Class II Rip Rap (Per Truck Per Hour)	1000	HR	97,00	970∞.∞
3	SP	Hauling Material Equal to or Larger than Class II Rip Rap (Per Truck Per Hour)	1000	HR	97.00	97000.00

TOTAL BID FOR PROJECT: \$ 194,000.15

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 7, 2024 AT 2:00 PM

CONTRACT ID: 12109839

WBS ELEMENT NO.: 13.108111, 13.208111, 13.208121

FEDERAL AID NO.: STATE FUNDED

COUNTY:

RUTHERFORD

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: HAULING MATERIAL UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

DanGrady Company LLC.

NAME OF BIDDER

1517 little savannah rd Sylva NC 28779

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

12109839

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13.108111, 13.208111, 13.208121

Description:

Hauling Material Upon Request

County:

Rutherford

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Emergency Mobilization	15	EA	300.00	4,500.00
2	SP	Hauling Material Smaller than Class II Rip Rap (Per Truck Per Hour)	1000	HR	115.00	115,000.00
3	SP	Hauling Material Equal to or Larger than Class II Rip Rap (Per Truck Per Hour)	1000	HR	120.00	120,000.00

1	OTAL	BID	FOR	PROJECT	239,500.00
					491 4-4

Contractor: DanGrady Company LLC.

Address: 1517 little savannah rd Sylva NC 28779

Phone: 828-506-0112 Federal Id: 85-0824997

Contractor's License Number: 99645

Authorized Agent: Noah Saunier Title: Member

 STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 7, 2024 AT 2:00 PM

CONTRACT ID: 12109839

WBS ELEMENT NO.: 13.108111, 13.208111, 13.208121

FEDERAL AID NO.: STATE FUNDED

COUNTY:

RUTHERFORD

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS PRIMARY AND SECONDARY ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: HAULING MATERIAL UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

ADDRESS OF RIDDER

Meadow (ourt Logarville, GA 30052

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

12109839

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13.108111, 13.208111, 13.208121

Description:

Hauling Material Upon Request

County:

Rutherford

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Emergency Mobilization	15	EA	1000	15,000
2	SP	Hauling Material Smaller than Class II Rip Rap (Per Truck Per Hour)	1000	HR	214.5D	214,500
3	SP	Hauling Material Equal to or Larger than Class II Rip Rap (Per Truck Per Hour)	1000	HR	121.50	3 21,500

TOTAL BID FOR PROJECT: # 451,000
Contractor: ICRO Enterprise, INC
Address: 1629 Richmond Meadow Cto Logarville, GA 30052
Address: 1629 Richmond Meadow Ct. Logarville, GA 30052 Phone: 404-509-1990 Federal Id: 85/18/130
Contractor's License Number:
Authorized Agent: Chory Ormand - Ham Title: CEO/OWNER
Signature: 250y 0-1/2024